BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

10*

1000

rm071 2/(401054 5117)=0.941
F ' | ' | ' | +
' BIC 438668 16 ABIC O. OOO AlogP 0.0000
i x 372649.38 Ax 0.000 AlogP 0.0000 1
i R R I - 1[0
"""""""" ' s e - - - - - - "_H_" VN 2
L ' ABIC —315202 ' 1061 :( 1 X
i Mx* —315202 ~74.1 |
5029 5029 5117
A ACs , ACF
L | L | L | L | L | L |
20 40 60 80 100 120
120 iterations
rmo71 2/(401054 5117)=0.941
N T T T T T T I
| ' BIC 438668 16 ABIC O. OOO AlogP 0.0000 |
2 2
....... 5029 - . - .o oo .B029. 0oL L. I 1 15—
i A I I ACS I ’7 T 1 AC5E I ., _L
20 40 60 80 100 120
120 iterations
Fe2 14% 598+309 km/s
rmQ71 BLR 12530 NLR 900 km/s
T | T | T | T | | H
: : BLR
— ' - - - - - ' T - - - - - - - - - -
3"%?*—_‘___’__‘_]1 AR S P S 3 NLR
C 1 9029 02 ' 1 Fell
i A 0T Tl T A ' - T OAGE '
[ . ! y h P D = ! ST = |
20 40 60 80 100 120

120 iterations

kdh1 13-0ct-2021 19:55



